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■ 0 < p < 1 とするとき，
∞∑
k=0

{pk−1 (1− p)} および
∞∑
k=0

{k pk−1 (1− p)} を求めよ．

（解） 等比無限級数の和の公式より

∞∑
k=0

{pk−1 (1− p)} =
1− p

p
· 1

1− p
=

1

p

である．極限 limn→∞(n · pn) = 0 と変数変換 ℓ = k + 1 より，n → ∞ のとき

Sn =

n∑
k=0

{k pk−1 (1− p)} =

n∑
k=1

{k pk−1 (1− p)} =

n∑
k=1

(k pk−1)−
n∑

k=1

(k pk)

=

n∑
k=1

(k pk−1)−
n+1∑
ℓ=2

{(ℓ− 1) pℓ−1} = 1 · p0 +
n∑

k=2

[{k − (k − 1)} · pk−1]− n · pn

=1− n · pn +

n∑
k=2

pk−1 = 1− n · pn + p · 1− pn−1

1− p
→ 1− 0 + p · 1

1− p
=

1

1− p

となるので，
∞∑
k=0

{k pk−1 (1− p)} =
1

1− p

である．
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